
-8
.8

-8
.8

0.
0

+8
.8

+8
.8

Δs=0
.486

%

Δs=0
.486

%

q=-2.5%

q=2.5%+8
.8

+8
.8

0.
0

-8
.8

-8
.8

Δs=-0.486%

Δs=-0.486%

q=2.5%

q=-2.5%

0+110.000 0+149.246 0+167.246 0+185.246 0+500.000

Querneigung
Maßstab 1:10
Rand links -1
Rand rechts 1

A = 220.000

 l = 91.321

R = -530.000

 l = 52.464
A

 =
 -

185.0
00

 l 
=

 6
4.5

75

R = ∞
 l = 0.001

A = 240.000
 l =

 96.000

R = 600.000
 l = 174.101

0+114.781 0+167.246 0+231.821 0+327.822

Krümmung

200/R (cm)

Rechtskurve

Linkskurve

Stationen Längsschnitt

Stationen Querprofil

Geländehöhe

Höhe Gradiente L/A

1
1
0
.
0
0
0

1
2
0
.
0
0
0

1
4
0
.
0
0
0

1
6
0
.
0
0
0

1
7
2
.
7
2
1

1
8
0
.
0
0
0

1
9
1
.
2
4
3

1
9
4
.
3
0
3

2
0
0
.
0
0
0

2
0
9
.
7
6
4

2
2
0
.
0
0
0

2
4
0
.
0
0
0

2
6
0
.
0
0
0

2
8
0
.
0
0
0

3
0
0
.
0
0
0

3
1
1
.
4
1
9

3
2
0
.
0
0
0

3
4
0
.
0
0
0

3
6
0
.
0
0
0

3
8
0
.
0
0
0

3
8
3
.
8
7
6

4
0
0
.
0
0
0

4
2
0
.
0
0
0

4
4
0
.
0
0
0

4
5
6
.
3
3
3

4
6
0
.
0
0
0

4
8
0
.
0
0
0

4
9
0
.
0
0
0

5
0
0
.
0
0
0

1
3
0
.
0
0
0

1
5
0
.
0
0
0

1
7
0
.
0
0
0

1
9
0
.
0
0
0

2
0
9
.
9
8
6

2
1
0
.
0
0
0

2
3
0
.
0
0
0

2
5
0
.
0
0
0

2
7
0
.
0
0
0

2
7
1
.
2
1
6

2
9
0
.
0
0
0

2
9
6
.
9
4
1

3
0
9
.
3
7
8

3
1
0
.
0
0
0

3
3
0
.
0
0
0

3
5
0
.
0
0
0

3
7
0
.
0
0
0

3
9
0
.
0
0
0

4
1
0
.
0
0
0

4
3
0
.
0
0
0

4
5
0
.
0
0
0

4
7
0
.
0
0
0

1
2
2
.
2
7
6

1
2
2
.
3
6
7

1
2
2
.
4
5
7

1
2
2
.
5
4
1

1
2
2
.
6
1
9

1
2
2
.
6
2
1

1
2
2
.
6
3
0

1
2
2
.
6
7
5

1
2
2
.
6
9
9

1
2
2
.
7
1
6

1
2
2
.
7
2
9

1
2
2
.
7
2
9

1
2
2
.
7
5
9

1
2
2
.
7
2
6

1
2
2
.
6
4
1

1
2
2
.
5
7
8

1
2
2
.
5
5
5

1
2
2
.
4
6
9

1
2
2
.
3
8
3

1
2
2
.
3
7
2

1
2
2
.
2
9
5

1
2
2
.
2
0
6

1
2
2
.
1
4
4

1
2
2
.
1
1
6

1
2
2
.
0
3
0

1
2
2
.
0
2
4

1
2
1
.
8
9
1

1
2
1
.
7
7
4

1
2
1
.
6
7
8

1
2
1
.
5
2
7

1
2
1
.
3
7
0

1
2
1
.
2
0
6

1
2
1
.
0
3
8

1
2
0
.
8
5
1

1
2
0
.
6
5
0

1
2
0
.
4
4
5

1
2
0
.
2
2
9

1
2
0
.
0
0
3

1
1
9
.
8
0
3

1
1
9
.
7
7
2

1
1
9
.
5
2
3

1
1
9
.
4
0
6

1
1
9
.
2
6
0

1
1
9
.
1
9
1

1
1
8
.
9
9
2

1
1
8
.
7
0
7

1
1
8
.
4
1
0

1
1
8
.
1
0
8

1
2
2
.
2
7
6

1
2
2
.
3
7
4

1
2
2
.
5
7
0

1
2
2
.
7
6
6

1
2
2
.
8
9
1

1
2
2
.
9
5
0

1
2
2
.
9
9
5

1
2
2
.
9
9
7

1
2
2
.
9
8
9

1
2
2
.
9
4
3

1
2
2
.
8
7
1

1
2
2
.
7
3
0

1
2
2
.
5
8
9

1
2
2
.
4
4
9

1
2
2
.
3
0
8

1
2
2
.
2
2
8

1
2
2
.
1
6
2

1
2
1
.
9
5
9

1
2
1
.
6
9
0

1
2
1
.
3
5
4

1
2
1
.
2
8
1

1
2
0
.
9
5
2

1
2
0
.
4
8
3

1
1
9
.
9
4
7

1
1
9
.
4
6
0

1
1
9
.
3
4
5

1
1
8
.
7
2
2

1
1
8
.
4
1
0

1
1
8
.
0
9
8

0
.9

8
1
 %

1
0
0
.0

0
0
 m

0
.9

8
1
 %

8
1
.2

4
3
 m

-0
.7

0
3
 %

1
9
2
.6

3
3
 m

-

3

.
1

1

8

 
%

1

0

6

.
1

2

4

 
m

117.098

ohne Ausrundung

Station = 110.000

h TS =122.276 m

H = 2200.000 m

T = 18.522 m

f = 0.078 m

Station = 191.243

h TS = 123.073 m

H = 6000.000 m

T = 72.457 m

f = 0.437 m

Station = 383.876

h TS = 121.719 m

ohne Ausrundung

Station = 490.000

h TS =118.410 m


